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1. ‘Ut o YIS QUM Isg Shivrd ?
(1) 4 (2) Wl (3) TR (4) woA

2. ‘OTE F FORAE A STSHIY IEB HT H A Taq ofidt amed’ a1 stufE wor i 2
(1) = @ wE faeh (2) SRS T =ie
(3) R A X HI @) feomEe sigr

3. ‘OO visere yaE gardt veg fee.

(a) TR (b) gaoi (c) ® (d) wi=A
i 39

(1) & (a) F (b) I (2) T (a), (b) T (d) TR

(3) W (c) T (d) SR (4) Td T ae

4. WA M TR TETE Sl
(1) demg, wi, =, i (2) TS, U, BTYH, his
(3) =Ter, femoR, s, sted 4) e, e, FeRd, garEr

5. ‘ST TEA @l woH! MEl TE T S wot ME STHG e Sghedl 6. 91 el YRR
Fregl.

(1) wo g (2) fhgEgx (@) TageE (4) Foe fug 9gH

6. T THSS o ML
(1) T (2) &= (3) I (4) @rdo

7. ‘wd’ = fawgnedt vsg wrow ?
1) emHE (2) ®H (3) s 4) ¥R”

8. ‘sIueh e ey fega A, A1 ARt ey ge feoe vt et
(1) 3o < fegd . (2) TEa:9 W A feHd .
(3) @ T e fewdm. (4) TETE T feEdmE.
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23. vsaW: BN i fu= 9 faftre sruft T S Iueed IsETRel S TR ?
(1) foRmo (2) aEEER (3) eI (4) eIt
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25. WS VEHYRih! I YaHqe e,
(1)  Trefae, stiaefdee, Isemgea (2) TH, GO, JEHE

(3) TETEE, WHEH, TETG (4) TooIUes, STHIY, HESHSE

26. ‘o’ @ U= 3.
(1) SuFfefed W (2) 09I ¥s] (3) voEfed e (4)  WEIRHE IS

27. ‘9 = S0, A1 AETERE 14 WSTSUhT hiord 2
(1) 9 H&A 999 (2) SidH@ TA aEn
(3) quTEAl F (4) e OO

28. &S VeRUdh! ToH V&g 3Hosal,
(1) 3d (2) A (3) 3 (4) faedt
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30. ‘o Sl geaes wat sTHE S, A1 ST WehR STesEl.
(1) Hga 9= (2) HES T (3) e SR (4) I AT
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(1) =R T Fieu (2) TINTe M e 9
(3) I fereerat AT (4) &9 99 To T
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33. ‘wemume witwERMT: ' A1 wevitan 31 e ?
(1) gfecan sraTer gemmEt gvEe. (2) TER A e gE garE @ fae a,

(3) fEcH ST T e, (4) dfeeen srarh =9 e o,
34, WA 8 EAMrEN fewmht en gafavarn o st @ TEUTT.
(1) e (2) R (3) T (4) a=A

35. '®IM A HOl@ wiod W TEfad, | a1 aerdie wE Sl
(1) FHghd HH (2) HIHHYE HHRL (3) FHHYE HHR (4) HYHE G

36. el fafay o @A fsvan gl Sraferom=n s e wordrd ?
(1) =g (2)  oTgE (3) fasmm (4) v framR
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(1) E=sda 9T HE.
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(4) e sfq: w0 o Ft areE 6L

38. ‘W@ Wehle ST HEMIER Wied SR €aet’ ¥ 1R Shivfel e 31 ?
1) fdafamr () =¥ faww 3) FHHEE 4) fadfros

39. ‘Y e SR Fel, A1 TsHYEEE Ay it g .
(1) g (2) wmE (3) e (4) o™
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"ty 1 oA foremarE A 1 ST aeedid QU fareneff e, Stiiad eaHEre! s vee |,

(a) Teergst (b) et (c) TSRSt (d) wHaE!
(1) (a) 20T (b) (2) (b) =TT (d) B) (9 4) ()

42, TA+3ierE A1 TRV TR SO A Sreves i,
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Eies SANT AT U9 hHieh 46 ° 50 AT W=t Sav o

UM WY ¢ IS0, T SUCAThSEl TS, Yol Hhd & SawIdl WU SATUSHIH! IS Bidl.  Sgsi ot
TSRl eedt, ageiiAT o feain ot v Gavaren SfeaReEle TaEdl. SRl SRSl Sashadd W ST
FOE UfaT e Gehdel e foo; onfi Ypardie dweE T S, SekvrEl fashE yrqe
YT R . ST 6 Sl GESEl T S e fofee, aHaveati au-arg HARdl S
THNEE! SEaeE! MHial 0 Sy daiee, ST Yehid! vHiat 9= |6 9iid 9fes Aol ot sSgem
SfeATeRTiar ST 2Tfor HA YT HTHISRTAT SUART ST § WTHfashre T $ed. ST+l GRIEhd Wid 9¢e
FHEA SIHUTIE STANT & FoAl. SR 81 SN TaheaTel MTaA1 R0 S0 3qarft Stel. Wl & Seghd i<
Yfged ToAT Teh THM |91 SV THE, 8 UehTd ST 3118 STHE THee S @Fle. § WHd Sl $1eh @ 316,
T quie W AL e, S ST Seehdt e R S oo ZAUE Tererl 4 SR A, @
TR e i gredt. SdE, ofie, T FiawE U € iiifos Yesmer S Bidl; T SHA egens '
iR wifteR TeZarerer eI Bt WHA 8 §Tee, Tl A1 SuiaREl T Hiifehd U THed™ A T
B Ao =1 Tear v aifvren i Hax wifes siferaer saceq dar. e sAfimder SH-T= 8 aifires- wiftes
e e, SHA TR B faaen e sYeel SuEel, ad =t Hed a1 Sifvreh- Wit Tared
e STSUeA] vdehid feg Adm.

Gepete TG & e gygiel aedd STEd. Siel diekeR df fofeare A0 & gEa Tom wen v
fofad e sraatearsR @1 Wid SeuR @i 3T9e faar @ v fofa e 3] o, T §a8)
YU HHIS 1 T & e W hivdr fag st

46. W= 2ifa SUHSH Siord ?

(1) uHgER 2) wfecafafHd (3) WA =EER  (4) YHHRE FeRR
47. YRt UG TR GHER S0 g 2

(1) BrhYe 9 g HAHfHda (2) wHiaR STfor HEghdl

(3) o1, S ST Gkt (4) irifoena, enfiea enfor s
48. IR THISTH T B Ul U SIUaTETa] hiofdt e STaveed 376 ?

(1) wEfecafafdd woart aHa (2) ud efor @ wea

(3) OIHH I H&hdl (4) WIS HTOATH &
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49.

10
Hith ek HehHUMH HewaTe HIEAH hIvN ?
(1) TgaE (2) 99 (3) (4)

50.

ATeTTeA i edaeRi HHETATEIET IO W SR Sde ?
(1) dafcew v (2) HEhd W (3) IO TS (4) RN

51.

Itis always desirable / to listen to the advice /who have extensive practical experience /
(@) (b) ©)
No error
(d)

Spot the error in the above sentence. If no error choose (d).

1) (@ 2) () 3 () 4) (@)

52.

(a’) Neither did men nor women go out at night.

(b) Not only the kitten was wet but cold also.

() No sooner does the curtain go up when the children watch the play closely.
Select the grammaticall); correct sentence/s.

(1) Only (a) (2) Only (b)

(3)  Only (a) and (b) (4)  Only (c)

53.

pronouns are always singular.
Which of the following correctly fills in the blank in the sentence above ?

(a) Reciprocal (b) Relative (c) Personal (d) Distributive
Answer Options :
(1) (c)only (2) (a) only () (d)only (4) both (b) and (d)

54.

Choose the idiom that means “to reveal a secret or confidential information”.
(1) Break the ice. (2) Let the cat out of the bag.
(3) Bite the bullet. (4) Hit the nail on the head.

55.

Choose the correct sentences :

(a) Try and come tomorrow.

(b)  TIfelt sure he would die and his money would go to his son.

(c)  The pundit read the first mantra and the bridegroom read the second.
Answer Options :

(1) (c) only (2)  (b) only (3) (b)and (c) only (4) (a), (b) and (c)

el BIHTETS! WIRT / SPACE FOR ROUGH WORK
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56. Find the correct indirect speech sentence for -
He said, “I shall go home.”
(1) He says that he shall go home.  (2) He said that he shall go home.
(3) He said that he would go home. (4) He says that he would go home.

57. Had he not sent money on time, the poor farmer his son ?
Select the correct alternative to complete the sentence meaningfully.
(1) would lost (2) would have lost
(3) would have been lost (4) will have lost

58. Fill in the blank.
Many pebple are painting ;
(1)  white their houses these days (2) these days white their houses
(3) their houses white these days (4) their houses these days white

59. After years of guilt, she finally decided to make a clean breast of her involvement in the scandal
and confessed everything to the authorities. What does the phrase “make a clean breast of”
mean ?

(1) To clean something thoroughly (2) To reveal or confess something
(3) To make heartfelt apology (4) To face the consequences of one’s actions.

60. (a) The doctor advised his patient where he should go for a holiday.
(b) The judge wondered who had committed the crime.
(c) Itis a pity that you couldn’t come.
(d) Although aeroplanes sometimes crash, accidents are rare.
Identify the sentence/s with adverbial clause.
(1) Only (a) and () (2) Only (b) and (d)
(3)  Only (a) and (b) (4)  Only (d)

61. Fill in the blank with the correct option given below :
‘Manisha will the prize which is declared yesterday.’
(1) Except (2) Accept (3) Acsept (4) Exept

62. Find the correct option of the question tag for - “They will fail.’
(a) They will fail, will they ? (b) They will fail, would they ?
(c) They will fail, won't they ? (d) They will fail, will not they ?
Answer Options :
() @and®) (@ (Mandd () ©andd (4 only ()
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63. ‘I knew that he was ill, but I did not know that he suffered from cancer.’
The above sentence exemplifies
(a) Compound sentence (b) Compound-Complex sentence
(c) Complex sentence (d) Simple sentence

Answer Options :

(1) (c) only (2)  (b) only (3) (a) only (4) (d)only

64. Choose the correct sentences :
(@) Can you tell me why you're interested in an administrative career ?
(b) Can you tell me why you are late ?
(c) Do you think does your name indicate your personality ?
Answer Options :
(1) (c)only (2) (a) and (b) only
(3) (b) and (c) only (4) (), () and (0

65. Fill in the blanks with the correct pair of articles in the following sentence.
death of the Prime Minister is being grieved by many people in UK.
(1) the, an (2) the, the (3) a an (4) a, the

66. Choose the correct idiom and fill in the blank.

The President was and lived beyond his tenure.
(1) hale and hearty (2) quite a catch
(3) talking by the dozen (4) head over heals

67. Choose the correct meaning of the underlined word in the sentence given below :

‘The staff members are conversant with the issues.’

(1) Frosty (2) Unfriendly (3) Unknown (4) Familiar

Pl BIHTATS! W / SPACE FOR ROUGH WORK
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68. Select the correct meaning of the underlined idiom in the given sentence :

“My father burnt his fingers by interfering in his neighbour’s affair.”

(1)  Got opportunity for revenge. (2) ~ Got himself into trouble.
(3) Got injury on fingers. (4) Got worried for his fingers.

N

69. Choose the one word which is closest to the opposite in meaning of the underlined word in the
given sentence :

“The leader was pragmatic in his approach to the peoples” problems.”

(1) Indefinite (2) Vague . (3) Optimistic (4) Idealistic

70. Identify the correct sentences :
(@) I met Renu after I had finished my work.
(b) When I first seeing him, I thought he was a lawyer.
() He joined after had his dinner.
Answer Options :
(1) (a) only (2) (a) and (b) only
(3) (a) and (c) only 4)  (a), (b) and (c)

71. Find out the meaning of the word underlined in the following sentences : -
(a) Sheis forever interrupting the conversation.
(b)  She has left him forever.
Answer Options :

(1) (a) Previously (b) Currently (2) (a) Officially (b) Previously
(3) (a) endlessly (b) Permanently (4) (a) Permanently (b) endlessly

72. Identify the verb form of the underlined word in the following sentence.
Swimming is a good exercise.

(1) Infinitive (2) Gerund (3) Phrase (4) Clause

o] BIETETS! WIRT / SPACE FOR ROUGH WORK P.T.O.
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Choose the correct option for the underlined word in the following sentence.
The government must cut down its expenditure.

(1) obtain (2) increase (3) reduce (4) stop

74.

Choose the correct reported speech of the following sentence.

He said, “I do not wish to see any of you; go away.”

(1) He said that he did not wish to see any of them and ordered them to go away.
(2) He told that he did not wish to see any one of them and punished them to went away.
(3) He exclaimed them that he did not wish to see them and even told them to go away.

(

4)  He said to them that he did not wish to see anyone of them and told them to go away.

75.

Choose the correct sequencing of the following sentence :

The students are

(a) with the help (b)  for last two hours
(c) of the teacher (d) solving the questions
Answer Options :

(1) (d), () @, (k) (2) (d) @), () (b) @) (d) @ (b)(@© @) (d) (b)) @

76.

Choose the one word substitute for “people living in the same age.’
(1) Delegate (2) Cosmopolitan (3) Curator (4) Contemporaries

77.

" After years of searching for answers, she had an epiphany and finally understood the true meaning
of happiness.” Which phrase represents the word “epiphany” ?

(1) “A sudden realization or insight.”

(2) “A feeling of confusion or uncertainty.”
(3) “A state of complete contentment.”

(4) A strong sense of empathy”.

78.

‘He must be asleep for there is no light in his room.”

The underlined conjunction in the sentence above expresses __ and hence is called
conjunction.

Which one of the following correctly fills in the blanks in the sentence above ?

(a) inference, illative (b) addition, copulative

(c) contrast, adversative (d) choice, alternative

Answer Options :

(1) (c) only (2)  (a) only (3)  (d) only (4)  (b) only

weed] BIHIATS! WM / SPACE FOR ROUGH WORK
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79. Everybody speak the truth.
Complete the sentence by choosing the correct alternative.
(1) should (2) would (3) will (4) may

80. Match the following pairs with the correct meaning :

(a) Ignorant (i)  Stubborn

(b) Imminent (i) Uniformed
(c) Obstinate (iii) Wise

(d) Prudent (iv) Approaching

Answer Options :
1) (a)-(i), (B)-(v), (©-(), (d)-G)  (2)  (@)-(i), (B)-(v), (c)-(), (d)-(i)
(3)  (@)-(i), (b)-(idi), (0)-(), (d)-(iv)  (4) (2)-(i), (b)-(), (c)-(iii), (d)-(v)

81. Choose the meaning of the underlined idiom :

How can you trust a man who plays fast and loose.

(1) Corrupt nature (2) Who is not existing
(3) Vicious (4) Says one thing and does another

82. (a) ItisIwho am to blame.
(b) Itis I who is to blame.
(c) Itis me who is to blame.
(d) Itis I who is to be blamed.

Which of the above is/are the correct sentence/sentences in respect of Relative Pronoun
agreement ?

(1) (b) only (2) both (a) and (d) (3) (a) only (4) (c) only

83. Match the words from ‘A" with their correct meaning from ‘B’.

IAI IB’
(@) Annihilate (i) One who walks in sleep
(b) Celibacy (i) One incapable of being tired

(c) Indefatigable  (iii) The state of remaining unmarried

(d) Somnambulist (iv) To destroy completely

Answer Options :

(1) (a)-@), (b)), (o)-(ii), (d)-G@v)  (2) (@)-(d), (b)), ()-(ii), (d)-Gv)
(3)  (a)y(v), (b)-(), (o)-(ii), (d)-G)  (4) (a)-(v), (b)-(iii), (c)-(i), (d)-()

Feed] DBIATATS! TN / SPACE FOR ROUGH WORK P.T.O.
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Find out the correct meaning of the underlined idiom in the given sentence :

“Why are you hanging back ? You sing as well as anyone else.”

(I) To hesitate to proceed (2) To repeat
(3) To break the voice (4) To come late

85.

“If T had wings, I would come flying to you.”

Which of the following conditions is expressed by the sentence above ?
(a) Impossible condition (b) Improbabie condition

(c)  Probable condition (d) Likely condition .‘

Answer Options :
(1)~ (d) only (2)  (a) only (3) () only (4)  (b) only

86.

Select the idiom that means “to try to achieve something that is difficult or unlikely.”
(1) Turn over a new leaf. (2) Throw in the towel.
(3) Beat the dead horse. (4) Reach for the stars.

87.

‘Those who are ___ in the art of flattery make a rapid progress in their life’.
Select the correct word to make the sentence meaningfﬁl. |
(1) adopt (2) adept (3) adapt (4) about

88.

Find out the correct meaning of the underlined idiom in the given sentence :

“Unless a poet is in his element, he cannot write good poetry.”

(1)  In his home (2) Inhis job (3) Inhis (4) In the right mood

89.

Match the following :

(a) Demonstrative pronouns (i)  myself, herself

(b)  Emphatic pronouns (i) what, which
(c) Interrogative pronouns (i) anyone, everybody
(d) Indefinite pronouns (iv) This, that

Answer Options :
(1) @), B)-G), ©-Gi), (d)-Gv) () @-(iv), (B)-G), (©)-i), (d)-(ii)
(3)  (@)-(i), (b)-(v), ()-() (@)-(ii) () @)-(v), (b)-(iid), ()-(ii), (d)-(i)
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90. Identify the wrongly spelt word/s from the following words.

(a) Accept (b) Anciant (c) Attract (d) Arrive
Answer Options :
(1)  (b)and (d) (2) Only (a) (3) (b) and (c) (4) Only (b)

91. Identify the grammatically correct sentence/s.
(a) He is the man whom we all respect.
(b) Idon’t know why she like dogs.
(c) His endeavours needs to be rewarded.
(d) Give me some food which I may eat.
Answer Options :
(1) (a) and (b) only (2) (b)and (c) only
(3) (a) and (d) only (4) () and (c) only

92. Find the correct synonym for the word, “Tranquil”.
(1) Agitated (2) Angry (3)  Quiet (4) Disturbed

93. Find out the correct option for the following matches :

(A) (B)
(a) Altar (i)  Pretence, false show
(b) Alter (i) Place of worship
(c) Affection (iii) To change
(d) Affectation (iv) Love, dedicate, emotions of liking

Answer Options :
(1) @-0), (b)), (©)-(iii), (d)-(v) (2  (@)-(id), (b)-(), (©)-(iv), (d)-(ii)
(3)  @-G), (b)-(ii), (0)-(iv), (d)-()  (4) (@)-(iv), (b)~(i), (c)-(1), (d)-(iii)

94. The politicians response to the accusation simply begged the question and failed to provide a clear
answer. What does the phrase “to beg the question” mean ?

(1) To ask for a favour or assistance.
(2) To avoid answering the question directly.
(3) To make a logical fallacy by assuming the conclusion in premise.

(4) To question someone’s authority or credibility.
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95. Choose the correct sentences.
(a) Her work is superior than her brother’s.
(b) This photograph is the better of the two.
(c)  This little girl is better than clever.
Answer Options :
(1)  (b)only (2) (a) and (b) only
(3) (b)and () only (4) (@) (b) and (9

Read the following passage carefully and answer the questions from 96-100 given below :

Data Management is one of the hardest and costliest tasks every organization faces. The fact that
organizations appoint a Chief Data Officer (CDO) shows how much importance they give to managing
data - its treatment, classification, analysis, security and compliance. This is where Deep Learning (DL)
shines as a perfect data management strategy when employed with the right set of tools.

While DL has been around for a while, the recent popularity of Chat GPT brings it back to being a
hot topic in the world of Al. Deep Learning is a subset of Machine Learning (ML) and is based on how
the human brain is structured and works. DL uses artificial neural networks to learn from large amounts
of data. It gets the name ‘deep’ because it leverages multiple layers of interconnected neurons to process
and learn from the data. DL algorithms are capable of learning complex patterns in images, audio and
text. Deep learning uses large amounts of unlabelled data to learn the underlying structure and patterns
in data. It is an unsupervised learning module that does not require labelled data to start learning from.

Deep Learning gained popularity in the 1980s with the development of back-propagation -
a technique for training neural networks. In the 2000s the evolution of advanced techniques with respect
to dropout and rectified linear units (ReLU) helped address core challenges. In 2012, AlexNet, a
convolutional neural network, focused on image recognition, won awards and regained popularity for
mainstream uses in Natural Language Processing, speech recognition and autonomous vehicles.

Some common use cases of Deep Learning are listed below :

(a) Image Recognition : Classification of images leveraging DL algorithms is being done across
healthcare institutions for the diagnosis of diseases.

(b) Natural Language Processing : When integrated with DL algorithms, opens up use cases like
chatbots, machine translation and voice assistants.

(c) Speech Recognition : DL algorithms help transcribe spoken language for use cases like speech-to-
text transcription and voice assistants.

(d) Fraud Detection : Deep learning algorithms help to keep a lookout for fraudulent transactions in
banking and finance.

(e) Autonomous Vehicles : DL algorithms help to navigate the surroundings in autonomous vehicles,
enabling real-time decisions to be made while these cars are on the road.

As the “deep’ in Deep Learning represents the depth of layers in neural networks, a neural network
that consists of more than three layers is considered a deep learning algorithm. Deep Learning networks
are feed-forward models but they can be trained to back-propagate as well. The latter is especially
useful to provide a feedback on errors so that the algorithm can be corrected appropriately.
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19 &

Deep Learning algorithms can be corrected on the basis of error-feedback provided by
Which of the following correctly fills the blank in the sentence above ?

(a) Layers of interconnected neurons. 4
(b)  Fraudulent transactions in banking,.

(c) Back-propagation.

(d) Data Management System (DMS).

Answer Options :

(1)  (b) only (2) (a) only (3) (d)only (4)  (c) only

97.

Basically speaking Deep Learning is a .
(a) Neural Module (b) Hot topic in the world of Artificial Intelligence (Al)

(c) Data Management Strategy (d) Back-Propagation technique
Answer Options :
(1) (d) only (2) () only (3) (a) only (4) (b)only

98.

Deep Learning plays a very important role in

(a) identifying the structure of human brain.

(b) the treatment, classification, analysis and security of data.
(c) controlling the dropout and Rectified Linear Units (ReLU).
(d) measuring the depth of layers in neural networks.
Answer Options :

(1)  (c) only (2)  (b) only (3) (a) only (4) (d)only

99.

One important feature of Deep Learning is that

(a) Deep Learning requires a Chief Data Officer (CDO).

(b) Deep Learning is a module not requiring labelled data to learn from.
(c) Deep Learning is a subset of Artificial Intelligence (AI).

(d) Deep Learning is more efficient than Machine Learning (ML).
Answer Options :

(1) (d) only (2 () only (3) (b) only (4) (a) only
100. Deep Learning is a part of ;
(a) AlexNet (b) ChatGPT
(c) Machine Learning (ML) (d) Natural Language Processing (NLP)
Answer Options :
(1) (c) only (2) (b)only (3) (d)only (4) (a)only
-00o0-
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